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A2: Finding Inverses of Exponential and Logarithmic
Functions, Solving Exponential and Logarithmic Equations -
Mixed Practice

Randy Glasbergen | glasbergen.com

“If 1 work hard, I’ll get good grades. If | get good grades,
I'll go to a top college. If I go to a top college, I'll get a
great job. If | get a great job, I'll make a lot of money.

1f | make a lot of money, everyone will hate me.
That's why I didn’t do my homework.”
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ex: Find the inverse.

b) f(x) = logs(x — 5) + 2




ex: Find the inverse.
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ex: Find the inverse.

d) g(x) = m5*-6
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ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

a) 5**3 4+ 1 =17

lba (5 X+3 Jfag(/@

(x+ )10y 5= 1912
X+3 = 1.7 3.3 |

X: —-{ 3-—77



ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

b) log,(x — 2)@10g7 (x + 3) =log, 14

Jogs (X x-E)=dewl
>(L+ X— 0 — 149~ O
{+X,J—D’-‘_’Z>

(¥ S (x-E)=D
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ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

c)l}1g§(7x +3) =Jog5(5x + 9)



ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.
x-1

132) (5) )b? .




ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

e)log(5x —11) = 2
W



ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.
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ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

g) 52x+1 - 8
oxt(
g S~ = 173 %
— 10g¥
(>x+0) h/DgS
X=_140




ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

hylogs(2x + 1) = log,(x + 2) —log, 3

)ng (Qx-ﬂ 094 [X+z_>




ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

D3—In(4x—3) =0
n(4x=3= T2
In (‘b“‘g:e}

Yr-3=¢€"
X=S .21\
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ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

D 2log,(5x+7)—1=

o (Sx”) .

Sx+ 7= 3=

=15



ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

K2-32*4+7 =25

% =1
27 =3
AH =
K= |



ex: Solve. Round to 3 decimal places when necessary and
check for extraneous solutions.

D logs x +logs (x — 12) =3
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